
 
suppose we have a dataset Xi yi É whereXjy ER
Wederive the formulafor thebest linear fit y A x B forthis dataset

We assumethat there isnoise in our y
valves suchthatthe Yi Ji are

normallydistributed
aroundthe true valves At Bxi and thatthe

normaldistribution hasthesame variance o for each datapointi
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We now wish to choose A and B to maximizetheprobabilitythat
he observe yes given Xii

The probability ofobserving y given Xii Aand B
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We now maximize thisquantity with respect to A B
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Those equations can now be rewritten
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